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The Laplace transform f (s) of a function F(¢) 1s defined by
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The Laplace transform becomes
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F(t):ekr, t >0

The Laplace transform becomes
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Heaviside Step Function
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The Laplace transform becomes
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Laplace Transform of Square Pulse
Let’s compute the transform of a square pulse F(f) of height A

fromr =0 tor =t N

Using the Heaviside step function,

the pulse can be represented as
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Dirac Delta Function
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This delta function 1s frequently called the impulse function because
it 1s so useful 1n describing impulsive forces.



Inverse Laplace Transform

L{F (D)} = f(s)

The inverse transform
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A table of transforms can be built up and used to i1dentify

inverse transformations, exactly as a table of logarithms

can be used to look up antilogarithms.



Table of Laplace Transforms
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Partial Fraction Expansion

The function f(s) = k?/s(s> + k?) does not appear as a transform
listed in table, but we may obtain 1t from the tabulated transforms by

observing that it has the partial fraction expansion
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Each of the two partial fractions corresponds to an entry in table

and we cantherefore take the inverse transform of f(s) term by term:
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1. Verify that
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2. Using partial fraction expansions, show that
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3. Using partial fraction expansions, show that for a? # b,
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